
Toutes les Opérations (I)Calculez chaque somme, différence, produit, ou quotient.13 - 12 = 96 : 12 = 21 - 11 = 1 · 10 =3 · 2 = 6 + 8 = 6 + 2 = 13 + 1 =19 - 7 = 13 + 6 = 182 : 13 = 14 + 3 =60 : 15 = 15 · 9 = 12 + 15 = 16 - 3 =2 + 14 = 10 - 2 = 33 : 3 = 17 - 9 =7 · 9 = 4 · 5 = 16 - 5 = 5 · 5 =6 · 13 = 12 + 4 = 14 · 13 = 7 + 4 =3 + 14 = 98 : 7 = 11 + 7 = 24 : 4 =132 : 11 = 1 + 2 = 1 · 11 = 169 : 13 =15 + 14 = 23 - 8 = 84 : 7 = 17 - 11 =6 · 3 = 18 - 7 = 117 : 9 = 20 : 5 =13 + 1 = 39 : 13 = 88 : 11 = 11 - 7 =9 · 7 = 21 - 14 = 10 - 9 = 12 · 4 =117 : 13 = 3 · 3 = 6 · 12 = 182 : 14 =10 · 5 = 28 : 7 = 5 · 2 = 18 : 2 =2 · 2 = 13 - 7 = 14 - 12 = 5 · 8 =3 + 14 = 2 + 2 = 11 + 5 = 1 · 15 =11 · 4 = 15 - 13 = 22 : 2 = 14 + 12 =12 · 8 = 3 · 3 = 132 : 12 = 26 - 11 =10 · 2 = 17 - 2 = 11 · 11 = 9 · 12 =15 - 7 = 9 + 9 = 5 + 5 = 18 : 9 =33 : 3 = 21 - 9 = 17 - 4 = 12 · 7 =3 + 11 = 12 · 12 = 6 + 14 = 9 + 14 =8 · 12 = 6 : 1 = 135 : 9 = 9 + 5 =3 + 8 = 13 + 10 = 20 - 9 = 7 - 2 =Mathslibres.com



Toutes les Opérations (I) RéponsesCalculez chaque somme, différence, produit, ou quotient.13 - 12 = 1 96 : 12 = 8 21 - 11 = 10 1 · 10 = 103 · 2 = 6 6 + 8 = 14 6 + 2 = 8 13 + 1 = 1419 - 7 = 12 13 + 6 = 19 182 : 13 = 14 14 + 3 = 1760 : 15 = 4 15 · 9 = 135 12 + 15 = 27 16 - 3 = 132 + 14 = 16 10 - 2 = 8 33 : 3 = 11 17 - 9 = 87 · 9 = 63 4 · 5 = 20 16 - 5 = 11 5 · 5 = 256 · 13 = 78 12 + 4 = 16 14 · 13 = 182 7 + 4 = 113 + 14 = 17 98 : 7 = 14 11 + 7 = 18 24 : 4 = 6132 : 11 = 12 1 + 2 = 3 1 · 11 = 11 169 : 13 = 1315 + 14 = 29 23 - 8 = 15 84 : 7 = 12 17 - 11 = 66 · 3 = 18 18 - 7 = 11 117 : 9 = 13 20 : 5 = 413 + 1 = 14 39 : 13 = 3 88 : 11 = 8 11 - 7 = 49 · 7 = 63 21 - 14 = 7 10 - 9 = 1 12 · 4 = 48117 : 13 = 9 3 · 3 = 9 6 · 12 = 72 182 : 14 = 1310 · 5 = 50 28 : 7 = 4 5 · 2 = 10 18 : 2 = 92 · 2 = 4 13 - 7 = 6 14 - 12 = 2 5 · 8 = 403 + 14 = 17 2 + 2 = 4 11 + 5 = 16 1 · 15 = 1511 · 4 = 44 15 - 13 = 2 22 : 2 = 11 14 + 12 = 2612 · 8 = 96 3 · 3 = 9 132 : 12 = 11 26 - 11 = 1510 · 2 = 20 17 - 2 = 15 11 · 11 = 121 9 · 12 = 10815 - 7 = 8 9 + 9 = 18 5 + 5 = 10 18 : 9 = 233 : 3 = 11 21 - 9 = 12 17 - 4 = 13 12 · 7 = 843 + 11 = 14 12 · 12 = 144 6 + 14 = 20 9 + 14 = 238 · 12 = 96 6 : 1 = 6 135 : 9 = 15 9 + 5 = 143 + 8 = 11 13 + 10 = 23 20 - 9 = 11 7 - 2 = 5Mathslibres.com


